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M AEFEHY
MY ANBWSAE P
Chel: XL ESAME DI 25 (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
=0 ESAE 23| 523,890 463,107 60,783
J| 366,723
Al 157,167
307 gl2tol & 523,890 463,107 60,783
J| 366,723
Al 157,167
10 AL SXNAIEEE2EH EX 523,890 463,107 60,783
O8=Z=8Iaiit EsAE 24| 523,890
J| 366,723
Al 157,167
SEZd0oHAd ESAIE Hl== A dAHH S 13,627 8,948 4,679
J| 13,627
301 LEAZ 13,627 8,948 4,679
J| 13,627
01 MEIBZE 05z 13,627 8,948 4,679
Od=ZUaik E2ESAE 8l=3X 4AHH S 13,627
J| 13,627
S=ZLIciA ESAE Xgss 2208 12,040 17,000 A 4,960
J| 8,428
Al 3,612
307 21201 A 12,040 17,000 A 4,960
J| 8,428
Al 3,612
11T M3 SXAISEEX 12,040 17,000 A 4,960
Od=8Idikt ESAE XNgsl=sxz0H 12,040
J| 8,428
Al 3,612
dEZH0HA ESAE 2 2 2HEHl 2,000 2,000 0
J| 1,400
Al 600
307 21240 2,000 2,000 0
J| 1,400
Al 600
11T M SXAISE EX 2,000 2,000 0
O&=dIloHAt ESAIE 2=2H ¥ 2tEH] 2,000
J| 1,400
Al 600
A=A ESAAE JIsE2AY 28,300 6,826 21,474
J| 14,150
Al 14,150
402 RIZER20l ™ 28,300 6,826 21,474
J| 14,150
Al 14,150
02 RIZEXt 2 AL EZ (01X TS ) 28,300 6,826 21,474
O&=YIoHA ESAIE JIsE22AY 28,300
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= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
p) 14,750
Al 14,150
SOHOHIIGH At XI&AIE 2l 694,654 550,647 144,007
J| 486,258
Al 208,396
307 glz2tol & 694,654 550,647 144,007
J| 486,258
Al 208,396
10 AL SXAIEEE2EH EX 694,654 550,647 144,007
O&OHOHIIGH At XIAAIE 2Dl 694,654
J| 486,258
Al 208,396
SOHOHIIGH At XIRAAIE PERS A 99,308 68, 186 31,122
J| 69,516
Al 29,792
307 glz2tol & 99,308 68, 186 31,122
J| 69,516
Al 29,792
11T MISRASEX 99,308 68, 186 31,122
OSOHOHIIGH A XI&AIE 2EXE A 99,308
J| 69,516
Al 29,792
SOHOHIGHA KRHAIE JIsEBZAY 8,500 3,800 4,700
J| 4,250
Al 4,250
402 RI2HXt20l ™ 8,500 3,800 4,700
J| 4,250
Al 4,250
02 21t 2 AL EZ (OIS ) 8,500 3,800 4,700
OEOHOHIIoH Xt XI&AE JIsE2ZAY 8,500
J| 4,250
Al 4,250
ZAIIcH 01F04 BSAE 2N 249,112 189,219 59,893
J| 174,378
Al 74,734
307 glz2tol & 249,112 189,219 59,893
Jl 174,378
Al 74,734
10 AL SXAIEEE 2 H EX 249,112 189,219 59,893
OZ=gllol 004 ESAIE 2ZHI 249,112
J| 174,378
Al 74,734
ZAToH 0IF0E SN S22 A 6,221 19,900 A 13,679
J| 4,355
Al 1,866
402 RIZ2FXt20l ™ 6,221 19,900 A 13,679
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el FHBSAE Oy 1S (S &2)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
Il 4,355
Al 1,866
02 It EAILEZ (OIS ) 6,221 19,900 A 13,679
O=gIlo OlF=HE ESAE JIsELAY 6,221
J| 4,355
Al 1,866
Z2T6H 0lF=04 BESAE EA4X NEXAZ2 10,000 10,000 0
| 10,000
301 LPENF 10,000 10,000 0
| 10,000
01 MEIBEE 53 10,000 10,000 0
O=gIlol OlI=d ESAIE AKX HEAA
= 10,000
J| 10,000
JIEEIol HEXNAS dFAUARAR}S 29 400 0 400
201 L2l 400 0 400
01 At 22l 400 0 400
ONEEGIol NEXNIS dBLAMAYE 2
& 400
A ZHATIH A XJAAE SRS 237,125 180,110 57,015
Al 237,125
307 2Iz2t0l A 237,125 180, 110 57,015
Al 237,125
10 M SXNANEHI2IHE=x 237,125 180, 110 57,015
Od ==X XNAIE =XSEH 237,125
Al 237,125
HEAE ==X 8= 146,000 147,000 21,000
= 131,400
Al 14,600
301 LPENZ 146,000 147,000 21,000
= 131,400
Al 14,600
01 MEIBE X253 146,000 147,000 21,000
OWEAE ==X MAHA=A 146,000
= 131,400
Al 14,600
EZH0E g8MAH 25 - 29 7,000 7,000 0
Al 3,500
- 3,500
201 £B-2%H| 4,000 4,300 A 300
Al 2,000
- 2,000
01 At 22l 4,000 4,300 A 300
OWE=H0gELMAH 75 - 23 4,000
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- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2

p) 1,407,723
Al 351,931

HAUE SHEQIIE Ols%¥=H S NEXE 32,272 32,250 22
J| 25,818
Al 6,454

301 et A= 32,272 32,250 22
J| 25,818
Al 6,454

01 AR E & A 462 32,272 32,250 22
OFAYE stERII=E IS =EH & NHEANA 32,272
J| 25,818
Al 6,454

SHE2JIE JEHus A 140,000 136,295 3,705
Al 140,000

301 et A =2 140,000 136,295 3,705
Al 140,000

01 Al B & A 46 2 140,000 136,295 3,705
QeI W= K& 140,000
Al 140,000

EXE g FHAE 6,000 6,367 AN 367
Al 6,000

301 et M= 6,000 6,367 A 367
Al 6,000

01 Al E XA 45 2 6,000 6,367 N 367
OFXINE g =AHXA 6,000
Al 6,000

orol=sS X & 1,806,177 1,806,177 0
2 1,264,324
Al 270,927
- 270,926

307 2Iz2t0| & 1,806,177 1,806,177 0
=2 1,264,324
Al 270,927
- 270,926

11T A EXAIE EX 1,806,177 1,806,177 0
Ootolss XEAY 1,806,177
= 1,264,324
Al 270,927
- 270,926

AL40A & USSIIENJALH 24 442,400 203,800 238,600
J| 221,200
Al 110,600
- 110,600

307 QI2t0| ™ 442,400 203,800 238,600
J| 221,200
Al 110,600




A I SEH Y
HE: 2% o O15 N
o9l HE=X S CEEEED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
- 110,600
10 MM SAANEEHESIGHEX 442,400 203,800 238,600
OAHLINE & U2IIEXNFLAH &4 442,400
Jl 221,200
Al 110,600
- 110,600
SRS 2= 550 0 550
201 et 550 0 550
01 AR 22l ] 550 0 550
OJIEZRSES WIS AAHE 550
ZE2010X SHSAMHA 31,788 30,050 1,738
Jl 15,894
Al 15,894
307 2Iz2t0| & 31,788 30,050 1,738
Dl 15,894
Al 15,894
11T AISIEXAIEEX 31,788 30,050 1,738
OZE0|12X SHAAMHIA 31,788
J| 15,894
Al 15,894
OlSHIIEEHE =4 33,943 30,070 3,873
J| 16,971
Al 16,972
307 2iztol A 33,943 30,070 3,873
J| 16,971
Al 16,972
11T AISIEXAIEEX 33,943 30,070 3,873
O0sdHIIEzEE =4 33,943
J| 16,971
Al 16,972
20|00 X AKX 15,500 15,500 0]
J| 7,750
Al 7,750
307 QI2t0| ™ 15,500 15,500 0
J| 7,750
Al 7,750
11 A EXAIEEX 15,500 15,500 0
OZE0|2AF S9H2FA 15,500
J| 7,750
Al 7,750
A28 L USSIIEXNJLAE SAKN SKEQE 1,400 0 1,400
A&
Al 1,400
307 QI2t0| ™ 1,400 0 1,400
Al 1,400
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HE: 2% o O15 N
@ E=EX A (&)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
10 AL SXNAIEEE2EH EX 1,400 0 1,400
OALIE & U2NSXNJALE SAL SX
ZOE XA 1,400
Al 1,400
2 ¢ HeolE XA 34,502,623 37,156, 124 A 2,653,501
= 18,790,562
Al 13,023,423
- 2,688,638
25 A =& 3,700 3,700 0
201 Let249y| 2,300 2,300 0
01 At 22/l 2,300 2,300 0
OESAY ot A H & 10,000& =120 1,200
OMEAH HR2u=s Wi M=
10,000& 1008 1,000
OS2 21 #49 M 100
203 YR =] 900 900 0
03 AIF=XH 2 =AY 900 900 0
OESALIR AI#EFA 1,000,000& *90% 900
301 LEXZ 500 500 0
12JEEd=s 500 500 0
OE®uia AL 1= 500
EKUAA A4 XA 4,965,110 4,877,989 87,121
= 2,979,066
Al 1,390,231
T 595,813
307 glz2+ol & 4,965,110 4,877,989 87,121
= 2,979,066
Al 1,390,231
T 595,813
10 ALSISXAIEEE2EHEX 4,965,110 4,877,989 87,121
ESWAA A 4,965,110
= 2,979,066
Al 1,390,231
- 595,813
OElold 2 XNA(HOMHOIMZ HElolE XEF2HHl) 4,800 4,056 744
= 2,880
Al 1,344
- 576
307 gl2tol & 4,800 4,056 744
= 2,880
Al 1,344
- 576
10 ALl SXNAIEEE2EHEX 4,800 4,056 744




SN bE™ M
Hu: 28 9 JIE X¥
Sl 28 Y 0R0E X CERED
5 - 4
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
O0elold 22 NA(HUMOIEZ ooy it
gd2gl) 4,800
= 2,880
Al 1,344
T 576
238 ol X& 666,667 850,305 A 183,638
= 400,000
Al 186,667
- 80,000
307 glz2tol & 666,667 850,305 A 183,638
= 400,000
Al 186,667
- 80,000
10 M3 SXNANEHI2IHEXR 666,667 850,305 A 183,638
O338 oHgold XA 666,667
= 400,000
Al 186,667
- 80,000
ES?AE FAE 3,900 3,900 0
201 L2l 3,900 3,900 0
01 At 22l 3,900 3,900 0
ORS9AR 59 FasY
100,000& » 13K x33| 3,900
Helols X2 (Heold W -hl) 45,996 43,838 2,158
= 27,597
Al 12,879
T 5,520
307 glz2tol & 45,996 43,838 2,158
= 27,597
Al 12,879
T 5,520
10 M ZXNANEHE2IHE=X 45,996 43,838 2,158
Oegold 2L XA (HE0lE wMwPHl) 45,996
= 27,597
Al 12,879
- 5,520
e 22 ALY 2,612,000 4,502,734 A 1,890,734
= 1,959,000
Al 457,100
- 195,900
301 LEHF 2,612,000 4,502,734 A 1,890,734
= 1,959,000
Al 457,100
- 195,900
01 Al EE X =56l = 2,612,000 4,502,734 A 1,890,734
Otges==g i 2,612,000
= 1,959,000




EA: JI=SHY
Hu: 28 9 JIE X¥
Sl 28 Y 0R0E X CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Al 457,100
- 195,900
AOt=& X&AS 1,719,537 0 1,719,537
= 1,289,652
Al 300,918
- 128,967
301 LBt A= 1,719,537 0 1,719,537
= 1,289,652
Al 300,918
- 128,967
01 AR E & A 4562 1,719,537 0 1,719,537
Odots=4 X& 1,719,537
= 1,289,652
Al 300,918
- 128,967
Helold W - ety K& 77,640 77,640 0
307 QI2t0| ™ 77,640 77,640 0
10 MM SAANEEHESIGHEX 77,640 77,640 0
ONelold - el X3 77,640
FdLotErE XN 13,030,693 15,388,905 N2,358,212
= 9,773,020
Al 2,280,371
- 977,302
308 AMXISHMSOIA 13,030,693 15,388,905 N2,358,212
= 9,773,020
Al 2,280,371
5 977,302
11 BI2SUHUSEAEAE AT Y| 13,030,693 15,388,905 N2,358,212
O02H B2 § X 13,030,693
= 9,773,020
Al 2,280,371
- 977,302
EE2WNA2 MM XN (WAI2LEFIHAH]) 1,512,738 1,480,720 32,018
= 907,643
Al 423,567
- 181,528
307 2iz2to| & 1,512,738 1,480,720 32,018
= 907,643
Al 423,567
- 181,528
10 MM SAANEEHESIGHEX 1,512,738 1,480,720 32,018
OBsNZA2 HRMH N (RAI2SLEHI|A
Hl) 1,512,738
= 907,643
Al 423,567
- 181,528




SN bE™ M
HE: 2% o O15 N
Sl 28 Y 0R0E X CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
F2 ZUHEH 24 7,000 6,700 300
= 3,500
Al 1,750
- 1,750
201 £B-2dH| 7,000 6,700 300
= 3,500
Al 1,750
- 1,750
01 At 22l 7,000 6,700 300
22 [UHEH 294l 7,000
= 3,500
Al 1,750
- 1,750
AMZEHIESAMEIA HBRE 300,000 172,452 127,548
= 150,000
Al 75,000
T 75,000
307 glz2+0l & 300,000 172,452 127,548
= 150,000
Al 75,000
T 75,000
10 ALSISEXAIEEE2EHEX 300,000 172,452 127,548
OANZtNES M2 K& 300,000
= 150,000
Al 75,000
- 75,000
ESWENA HRMS XN (X WA 2124dl) 2,163,674 2,031,751 131,923
= 1,298,204
Al 605,828
- 259,642
307 21201 A 2,163,674 2,031,751 131,923
= 1,298,204
Al 605,828
- 259,642
10 AL SXNAIEEE2EHEX 2,163,674 2,031,751 131,923
OBUAZA HRME X (B2 A 12]) 2,163,674
= 1,298,204
Al 605,828
T 259,642
oo 2ed 2 MzH X 99,000 98,901 99
307 i+l & 99,000 98,901 99
10 ALSISXAIEEE 22X 99,000 98,901 99
ongold a&d 24 Mzl 99,000
BI3~5AMI0 el E BEsE 5,634,046 5,702,060 268,014
Al 5,634,046
301 LA S 5,634,046 5,702,060 A68,014




SN ObS
D ES Y OIE XY
28

el

X ZH
S =

2 R0IE N

SA - BB B () - MM - BES Ol &t o San HmEET
Al 5,634,046
01 MEIBZE 06z 5,634,046 5,702,060 A68,014
OB3~5M0t =2l E B2 X3 5,634,046
Al 5,634,046
HHBE=z XA 714,902 563,085 151,817
Al 714,902
308 XX EHHSOIA 714,902 563,085 151,817
Al 714,902
1 3I2SOHEHE & X 2 AL I 714,902 563,085 151,817
OHROXNENHE0E 2=010] HEEE= X
2 714,902
Al 714,902
FREXNANHE0E 29l 10,200 10,800 A 600
Al 10,200
307 21201 A 10,200 10,800 A 600
Al 10,200
10 ALSISXAIEEE2GHEX 10,200 10,800 A 600
OFRXNANS0E N2 10,200
Al 10,200
UGS ROIHE0IE ESUA E222Y 25,200 25,200 0
Al 25,200
307 21201 A 25,200 25,200 0
Al 25,200
10 AL SXAIEEE2EHEX 25,200 25,200 0
OXMHEROIMEOIE BERA S22 25,200
Al 25,200
0elold d&dsts & St AMI 44,300 50,800 6,500
Al 44,300
307 glz2+ol & 44,300 50,800 A 6,500
Al 44,300
11T M SRASE EX 44,300 50,800 26,500
ONE ol Fsts 2 2ot At 44,300
Al 44,300
238 ol x=e2l&d oAyl K& 50,400 57,600 AT7,200
Al 50,400
307 212+0| & 50,400 57,600 AT,200
Al 50,400
10 ALSISEXAIEEE2EHEX 50,400 57,600 AT7,200
OZ23280e0ld =el& 2| 50,400
Al 50,400
PERHY HRML(=X+E) 663,600 780,000 A 116,400
Al 663,600
307 21201 A 663,600 780,000 A 116,400




AN OtEEH Y
B 88 U JtE AY
Sel: B8 2 A0Y X (ol @)
SA - BB B () - MM - BES Ol &t o San HmEET
Al 663,600
10 ALSISXAIEEE 22X 663,600 780,000 A 116,400
OESUAE H2ME(SX=Y) 663,600
Al 663,600
OFZAEI0IE ZclAE 29 AL | 780 1,110 A 330
Al 780
307 21201 A 780 1,110 A 330
Al 780
10 ALSISXAIEEE2IHEX 780 1,110 A 330
OO0l 2elAZ2 2% Al 780
Al 780
20X ESWA BII285+H 50,280 54,030 A 3,750
Al 50,280
307 gl2tol & 50,280 54,030 A 3,750
Al 50,280
10 AL SXNAIEEE2EH EX 50,280 54,030 A 3,750
OFROXNJANE0E EEA HI2E5E 50,280
Al 50,280
F2XNENHE 0 EKUAN XY 15,840 16,097 A 257
Al 15,840
307 21240 & 15,840 16,097 A257
Al 15,840
10 AL SXAIEEE2EH EX 15,840 16,097 A 257
OF=RXNE HEold EsuA EX+E 15,840
Al 15,840
FRO0XNJAAHE 0™ Zeld oAl 75,000 90,000 A 15,000
Al 75,000
307 21201 A 75,000 90,000 A 15,000
Al 75,000
10 ALSISXAIEEE2FHEX 75,000 90,000 A 15,000
OFROIXN3N0E Zeld Ad ALY 75,000
Al 75,000
OO 20201 & XtEJIAF 2124l 4,800 3,600 1,200
Al 2,400
- 2,400
307 21201 A 4,800 3,600 1,200
Al 2,400
- 2,400
10 AL SXNAIEEE2EHEX 4,800 3,600 1,200
OXOHOIEEZ U 0IE XHE DAL 24| 4,800
Al 2,400
T 2,400
ZOHOIEZ2HE0E R0 dHEX 2E X2 820 0 820
Al 820
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M =N
B 0l - HAd Hel 28
el OIS - BAUW ©5 2 FO CERED
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OO0Eol - 3AE2s }A3E ZA=+E 1,800
Otsdelns 249 5,900 0 5,900
201 Lt 5,500 0 5,500
03 &Ar2 I 5,500 0 5,500
OotJt= otsdel =0ld 2,000
O0ts - a4 HHUSAE 3,500
301 LEAZ 400 0 400
09 HALAHIX A S 400 0 400
OF X 241, AlH]| 8,000& x50 400
ots=¢ 9,420,000 9,368,000 52,000
= 7,536,000
Al 1,318,800
- 565,200
301 LA S 9,420,000 9,368,000 52,000
= 7,536,000
Al 1,318,800
T 565,200
01 MEIBEE 263 9,420,000 9,368,000 52,000
Otts=¢ 9,420,000
= 7,536,000
Al 1,318,800
T 565,200
Ots+=& At 29l 2,190 2,247 AB7
= 1,533
Al 657
201 £B-2dH| 2,190 2,247 A57
= 1,533
Al 657
01 At 22l 2,190 2,247 AT
Ol0ts+=& 2& 29| 2,190
= 1,533
Al 657
CIEHH =5 At (Qr24dl) 179,240 148,920 30,320
= 89,620
Al 89,620
307 glz2+ol & 179,240 148,920 30,320
= 89,620
Al 89,620
10 ALSISXAIEHE2EH EX 179,240 0 179,240
ohgnssdH Al 179,240
= 89,620
Al 89,620
CEMEs At (& xidl) 70,000 69,197 803
= 45,000




M =N
B 0l - HAd Hel 28
el OlE - HAE 25 Y FHO (S &2)
SA - BB B () - MM - BES Ol &t o San HmEET
Al 25,000
401 Al& I 28I 50,000 50,000 0
= 25,000
Al 25,000
01 A& HI 50,000 50,000 0
OottgtNssdy el 50,000
= 25,000
Al 25,000
405 TtakF S| 20,000 19,197 803
= 20,000
01 AL EFH S 20,000 19,197 803
OUEgN=s8HH 257 20,000
= 20,000
CHEEN == Al (2gHl) 12,000 36,000 A 24,000
= 6,000
Al 6,000
307 gl2tol & 12,000 34,000 A 22,000
= 6,000
Al 6,000
10 AL SXAIEEE 2 H EX 12,000 0 12,000
OhglssdH 29l 12,000
= 6,000
Al 6,000
CIEtH == A (2gHl XA 31,200 0 31,200
201 LBH2I | 3,200 0 3,200
01 At 22l 3,200 0 3,200
OXNs=s82AM 3o &+
100,000 10X »23| 2,000
OCIE NS SHE DIASSAAARS 510 &
o =g 100,000 »3H »23| 600
OUENESHH SR229 Mo & 600
307 21201 A 28,000 0 28,000
10 ALSISXAIEEE2IHEX 28,000 0 28,000
OUEHN=sSHH 22| 28,000
CIEtHEs AL (S&sh 8Xdl) 70,000 0 70,000
= 50,000
Al 20,000
401 Al Bl & 28I 50,000 0 50,000
= 30,000
Al 20,000
01 A& HI 50,000 0 50,000
OttgNssSddH cl2gad(sgsa) 50,000
= 30,000
Al 20,000




IR
ots - a4 del EF
Ol - HAW 25 U Hof )
SA - ZE-B(EN) - NRAY - B S il

405 XHoHF S HI 20,000 20,000
= 20,000

01 XY 2 ZFH S| 20,000 20,000
OUENESHEH 2827 (SE3) 20,000
= 20,000

CLENSSHEH SMAE SXNEAE 300 300
Al 300

307 glz2+ol & 300 300
Al 300

10 ALSISXAIEEE2EHEX 300 300
OUgNssdE SAA SXEQE 300
Al 300

CtENESsSHEH SAX HHAH 2,160 2,160
Al 2,160

307 21201 A 2,160 2,160
Al 2,160

10 ALSISXAIEEE2IHEX 2,160 2,160
OhUgNssdEH SAX HRIHLH 2,160
Al 2,160

ChEtHESSHdE SAX Al2A22Y 2,448 2,448
Al 2,448

307 gl2tol & 2,448 2,448
Al 2,448

10 AL SXNAIEEE2EHEX 2,448 2,448
OUEHNSSHE SAR A2 2,448
Al 2,448

HAAHNE Ot ES 10,607,533 1,523,864
= 1,912,247
J| 196,307
Al 7,647,783
T 851,196

NSAE OS2 ANME S 5,099,344 1,364,371
= 1,418,737
J| 64,854
Al 2,771,357
T 844,396

A0S IHE KNI (YE2Y) 61,200 0
J| 42,840
Al 18,360

301 LEEAZ 61,200 0
J| 42,840
Al 18,360

01 MEIBZE 06z 61,200 0
Ogdots ==& XA 61,200




A I SEH Y
HE: HUNUS OIS B35
e XA olse HAEs &4 (ct
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Pl 42,840
Al 18,360
Qekols JIE X (HUjots ¥4 20,248 20,248 0
J| 14,174
Al 6,074
301 et A= 20,248 20,248 0
J| 14,174
Al 6,074
01 AR E & A 462 20,248 20,248 0]
O AOts = AA 20,248
p] 14,174
Al 6,074
I JIEEOIs AelxlEs XN 4,800 4,800 0
= 3,360
Al 1,440
301 et A =2 4,800 4,800 0
= 3,360
Al 1,440
01 Al E& A 46 2 4,800 4,800 0
Og - I3 Eots Adelxz X 4,800
= 3,360
Al 1,440
el =512 X 3,000 3,000 0
Al 3,000
301 et M= 3,000 3,000 0
Al 3,000
01 Al E& A 252 3,000 3,000
Ogs=s52 AA 3,000
Al 3,000
QA0S JI=E X (Y=t 210 XH) 2,100 2,100
9] 1,470
Al 630
301 et A= 2,100 2,100
J| 1,470
Al 630
01 A3 E & A 462 2,100 2,100
Ogd=ql|2t 2X X& 2,100
J| 1,470
Al 630
QOIS JIE XK (YAH ) 9,100 9,100
J| 6,370
Al 2,730
307 QI2t0| & 9,100 9,100
J| 6,370
Al 2,730
_ 19 _




2N

B FUNE O 25
ool KSAS| OtSol AFE T4 CER-ED
SA - BB B () - MM - BES Ol &t o San HmEET
11T M SRASE EX 9,100 9,100 0
ogadlE XA 9,100
J| 6,370
Al 2,730
d gets otssSA X 1,434,295 936,638 497,657
Al 1,075,721
T 358,574
307 21201 A 1,434,295 936,638 497,657
Al 1,075,721
T 358,574
11T MISXASEX 1,434,295 936,638 497,657
OBgY, &= Ots=s4XE 1,434,295
Al 1,075,721
- 358,574
£, E5Y Ots=a4XA 470,180 470,180 0
Al 470,180
307 21201 A 470,180 470,180 0
Al 470,180
11 ALS S XAEE = 470,180 470,180 0
OE,35Y Ots=24 X 470,180
Al 470,180
HaszAotssSa FIHAE 283,936 0 283,936
307 glz2tol & 283,936 0 283,936
11T M SXAISE EX 283,936 0 283,936
OMASZAtsSS4A FIHAE 283,936
OtssSAdsg 1,400 1,400 0
201 Let2d] 1,400 1,400 0
01 At 2t 2l 1,400 1,400 0
ONS3AMAAS 3o &M
100, 000& »7H 23| 1,400
IFEASE OIS XA 85,500 89,910 N4,410
Al 59,850
T 25,650
301 LBEAZ 85,500 89,910 N4,410
Al 59,850
- 25,650
01 MEI2BZE 06z 85,500 89,910 24,410
Ot &EsXE 85,500
Al 59,850
- 25,650
IIERIEOlS =237 XA 2,000 0 2,000
Al 1,400
- 600
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AN IEEMD

B FUNE O 25
@2 XA ots2 2HE |4 (&)
SA - BB B () - MM - BES Ol &t o San HmEET
301 LEHZ 2,000 0 2,000
Al 1,400
- 600
01 MEI2EZE 45z 2,000 0 2,000
OJE?E0s RS X 2,000
Al 1,400
- 600
OIS ESXNA(HI0SESH]) 9,000 0 9,000
= 6,300
Al 2,700
301 LEPEXF 9,000 0 9,000
= 6,300
Al 2,700
01 MEIBEE 053 9,000 0 9,000
OfJItsEsX2 (d20otsE25Hl) 9,000
= 6,300
Al 2,700
fOIOtSESKR (OS2 HI) 1,000 0 1,000
= 700
Al 300
301 LeEBAF 1,000 0 1,000
=2 700
Al 300
01 MI28HE+06l= 1,000 0 1,000
O=IItsEsNE(Ots8E72Hl) 1,000
= 700
Al 300
A2EAHINE B RIE AME0ts HetsEa3a N3 42,000 42,000 0
Al 42,000
301 LEEMZ 42,000 42,000 0
Al 42,000
01 MEI2EZE 406z 42,000 42,000 0
OAHAUIE JIE/AE AME0S HESSES
X 42,000
Al 42,000
ANEE A0S HEEES NE 96,000 115,000 A 19,000
Al 96,000
301 LEHZ 96,000 115,000 A 19,000
Al 96,000
01 MI2EZE 06z 96,000 115,000 A 19,000
OAN4dEAOts HEERHZ X 96,000
Al 96,000
JIIERIE Ols & NHEEEHS X 64,000 0 64,000
Al 32,000
T 32,000




AN IEEMD

B FUNE O 25
@2 XA ots2 2HE |4 (&)
SA - BB B () - MM - BES Ol &t o San HmEET
301 LEHZ 64,000 0 64,000
Al 32,000
- 32,000
01 MEI2EZE 45z 64,000 0 64,000
OJE<?E0s & NEEFES N 64,000
Al 32,000
- 32,000
23E20s NHEx=E 270,000 169,200 100,800
= 216,000
Al 54,000
301 LEPEXF 270,000 169,200 100,800
= 216,000
Al 54,000
01 MEIBEE 053 270,000 169,200 100,800
OEs&x20ts g 270,000
= 216,000
Al 54,000
Ot= L& RIJ A E 524,400 224,570 299,830
= 367,080
Al 157,320
301 LeEBAF 524,400 224,570 299,830
= 367,080
Al 157,320
01 MI28HE+06l= 524,400 224,570 299,830
OLIgMXEEXEA 524,400
= 367,080
Al 157,320
ASotsdye 2€H X& 933,000 933,000 0
= 466,500
Al 419,850
T 46,650
307 glz2tol & 933,000 933,000 0
= 466,500
Al 419,850
T 46,650
10 AL SXAIEEE2EHEX 933,000 933,000 0
OXgotsdy 24 XN& 933,000
= 466,500
Al 419,850
- 46,650
S+2x8 XANSHE ZIX 49,536 49,536 0
= 24,768
Al 24,768
307 212+0| & 49,536 49,536 0
= 24,768
Al 24,768
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M IEEH L

Ha: HUNE Ol 25
XA Olse HA&s &4 (2 &HH)
= - 4 14
SA - H .G (3AH) - MBAY - BES %Ei HR=2

10 M3 SAANEEHESIGHEX 49,536 49,536 0
ELZSNYE (Y90tsHEH F=IHAH 49,536
= 24,768
Al 24,768

ER2Y NY90tsHE =IO 9,600 3,648 5,952
= 4,800
Al 4,800

307 QI2t0| ™ 9,600 3,648 5,952
= 4,800
Al 4,800

10 A SXNANEEHESIHEX 9,600 3,648 5,952
OER2Y XY90tsHdH =X 9,600
= 4,800
Al 4,800

SHAMIIIE 2HH NH 4,828 4,828 0
2 2,414
Al 2,414

201 et d| 4,828 4,828 0]
2 2.414
Al 2,414

02 E22%H| 4,828 4,828 0
Os&MRIIE 2EH XA 4,828
2 2,414
Al 2,414

NE0otsHE 3MAd X 25,000 0 25,000
= 12,500
Al 6,250
- 6,250

307 2iztol & 25,000 0 25,000
= 12,500
Al 6,250
- 6,250

10 MM SAANEEHESIGHEX 25,000 0 25,000
OX<E0otsHdEH &H&H K& 25,000
= 12,500
Al 6,250
- 6,250

XNEotsHE 283D AR (HE) 12,000 12,000 0
= 6,000
Al 6,000

201 et H9d| 12,000 12,000 0
= 6,000
Al 6,000

01 AFR 2t 2| bl 12,000 12,000 0
OXG0tSHEH 218D XN (AE) 12,000
= 6,000
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M IEEH L

B FUNE O 25
el ANFAE Ots2 AN =4 (Sl & &)
SA - FE - BI(EA) - NRAY - By 0l &t San DS
| Al 6,000
Ots=XN WA OtAXA 229,654 206,532 23,122
= 109,427
Al 109,427
T 10,800
101 1Al 229,654 206,532 23,122
= 109,427
Al 109,427
- 10,800
04 JI1ZtHZ22 s 229,654 206,532 23,122
OOots=R WA 1A4H K& 218,854
= 109,427
Al 109,427
OO0ts=SX At SXEAE 300,000& x12H 3,600
O0sS=XNRAL BEAENHS
300,000& 12L& #23| 7,200
NEotsEEH SAX M<OHAH 97,560 97,350 210
Al 75,960
- 21,600
307 glz2tol & 97,560 97,350 210
Al 75,960
T 21,600
10 AL SXAIEEE2EH EX 97,560 97,350 210
OXY0otsdEH AR M<HAH 75,960
Al 75,960
OANEZE, MESXA HSIHAHI 21,600
ANEotsdEHe T2 XA 32,640 32,640 0
Al 32,640
307 BI2t0| & 32,640 32,640 0
Al 32,640
10 AL SXAIEHE 2 H EX 32,640 32,640 0
OXgotsd e Z28Hl X 32,640
Al 32,640
MNEss NIorsdlH 29 K& 16,800 16,800 0
Al 16,800
307 glztol & 16,800 16,800 0
Al 16,800
10 A SIAEHE2SEHIEX 16,800 16,800 0
OM4YsEs NAotsdH 29 X& 16,800
Al 16,800
XIS HE Wit 29 X2 5,220 5,220 0
Al 5,220
307 21240 & 5,220 5,220 0
Al 5,220
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M IEEH L

B FUNE O 25
@2 XA ots2 2HE |4 (&)
SA - BB B () - MM - BES Ol &t o San HmEET
10 AL SXNAIEEE2EH EX 5,220 5,220 0
OXSotsdye HLte 29 X& 5,220
Al 5,220
NEotsdE SAX =SXEUE X 3,100 3,100 0
Al 3,100
307 glz2+ol & 3,100 3,100 0
Al 3,100
10 ALSISEXAIEEE2EHEX 3,100 3,100 0
OXGotsdH SALAL EXNZAE K& 3,100
Al 3,100
NEOotsSHEH SAX AlIZA2R+E 13,687 0 13,687
Al 13,687
307 21201 A 13,687 0 13,687
Al 13,687
10 M2 SXNANEHES2IHEX 13,687 0 13,687
OXNYGOotSHE SAX Al22A2R2 13,687
Al 13,687
NGotsdE Hg AL X2 3,000 3,000 0
301 LEHZ 3,000 0 3,000
09 HALAHIX RS 3,000 0 3,000
OXgotsdH g AL X 3,000
ANEotsdHAE 800 800 0
201 L2l 800 800 0
01 At 22l 800 800 0
OXNHOISHEIR RS 5l9 Baxg
100,000& »8H 13| 800
FHAHE OlsSEMEIA XA 245,460 176,875 68,585
= 179,168
Al 22,396
T 43,896
101 124 dl 54,500 0 54,500
= 42,400
Al 5,300
- 6,800
04 JI1ZtHZ22 s+ 54,500 0 54,500
OO0t S At 22l A 1 248l 53,000
= 42,400
Al 5,300
- 5,300
OOtS SE At ZtelAF SXIZQE 600
OO0t SE At ZelA BB ANHS 900
201 et 162,120 152,135 9,985
= 113,696
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2N

M HUNE OF 25
e XA olse HAEs &4 (&2 &)
SN EHD B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
T 7,010
- 34,212
01 At 22l ] 143,360 141,673 1,687
OEHAEE T2 29 101,660
= 81,328
Al 10, 166
- 10, 166
Ost&sXa T2 29 20,000
OS|UZ2X ALY Al E &2t E 1,500
= 1,200
Al 150
- 150
OEEAEE dH 249 4,000
= 3,200
Al 400
- 400
OEEAEE A ENFH| 5,000
2 4,000
Al 500
- 500
OCHAEHE2IERARAG A3 1,800
= 1,440
Al 180
= 180
OCHYAEE 222 X 8,400
2 6,720
Al 840
- 840
OEYAEIE SS$ABAIAEY X222 1,000
- 800
Al 100
- 100
02 3524 H| 15,760 7,462 8,298
ORERZ, 8IIL3 8 22322 10,760
= 8.608
Al 1,076
- 1,076
OXEgER A 22l 5,000
- 4,000
Al 500
- 500
03 Al HH| 3,000 3,000 0
OEEAEE 88A 29 3,000
= 2,400
Al 300
- 300
202 04| 14,840 11,840 3,000
= 11,872
Al 1,484
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2N

HEM: FAHS 0l 25
e XA olse HAEs &4 (2 &HH)
5 - 4
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
- 1,484
01 2L I 14,840 11,840 3,000
OEEAERE MNRuUNs &0 14,840
= 11,872
Al 1,484
- 1,484
203 &2 = &4 5,000 2,400 2,600
= 4,000
Al 500
- 500
03 Al 2 =& 2 F X H| 5,000 2,400 2,600
OEYAERIE 213 S AI#MF=&XH| 5,000
= 4,000
Al 500
- 500
301 et A= 8,000 8,000 0
= 6,400
Al 800
- 800
09 HAIAHI XIS 2 3,000 3,000 0
OEEAEE T2 A AlY| 3,000
= 2,400
Al 300
- 300
12 JIEtE A2 5,000 5,000 0
OEEAEIE Tz 2 AHH] 5,000
= 4,000
Al 500
- 500
405 XHAHFI S HI 1,000 2,500 A 1,500
= 800
Al 100
- 100
01 XAt 2 E F S| 1,000 2,500 A 1,500
OMEE HE ¢ 1,000
=2 800
Al 100
- 100
AHYIE MH 2= 3,400 0 3,400
= 2,720
Al 340
- 340
201 et d| 3,400 0 3,400
= 2,720
Al 340
- 340
01 AFR 2t 2| bl 3,400 0 3,400
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AN IEEMD

BE: HANE O 25
e XA olse HAEs &4 (2 &HH)
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
OHfMHHIE MH () 2,400
= 1,920
Al 240
- 240
#HHIE HMH 2= (29H]|) 1,000
= 800
Al 100
- 100
OlS S EAN Z2Z23HAHE 4,900 5,600 AT700
201 gBt24d| 3,800 5,000 A 1,200
02 2% H| 3,800 3,200 600
O0l=ssth = AL &3 S Xl 1,800
OOtsSE XA & 58 & S22l 2,000
307 2I2t0| ™ 600 600 0
01 2 2¥d32=H| 600 600 0
OOots&fIlol I o=dl XNE S 600
405 XHAHF S HI 500 0 500
01 AL 2 ZF S| 500 0 500
OO0ISEU XA XY QOEIIANE 2L 500
OlsSE2EsdER3 AY 15,000 0 15,000
= 12,000
Al 1,500
- 1,500
201 et | 6,500 0 6,500
= 5,200
Al 650
- 650
01 AP 2t 2] H| 5,000 0 5,000
O0ISESdERE JI22d| 5,000
= 4,000
Al 500
- 500
02 2224 H| 1,500 0 1,500
OllsE2SsdYERE NM3te2 1,500
= 1,200
Al 150
- 150
202 o4l 1,000 0 1,000
= 800
Al 100
5 100
01 2L Y| 1,000 0 1,000
O0lsSESsdE2E 0| 1,000
= 800
Al 100
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2N

HE: HUNUS OIS B35
@2 XA ots2 2HE |4 (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2

- 100

307 12+l & 7,500 0 7,500
2 6,000
Al 750
- 750

01 2222l 7,500 0 7,500
OOlSESdER¥A AR MHUIA2HYI 7,500
2 6,000
Al 750
- 750

OtSSHEAL sSHE & EH AKX 10,000 0 10,000
2 5,000
Al 2,500
T 2,500

405 TtHabF S| 10,000 0 10,000
2 5,000
Al 2,500
T 2,500

01 et EFSFHSHI 10,000 0 10,000
OOtsEHEA SHE HLFH 2 10,000
= 5,000
Al 2,500
- 2,500

Ors=EXIAE 23 X3 5,508,189 5,348,696 159,493
= 493,510
J| 131,453
Al 4,876,426
- 6,800

HAZ0H(0ts) 533,333 533,333 0
= 480,000
Al 53,333

301 LA F 533,333 533,333 0
= 480,000
Al 53,333

01 MI28HE 6= 533,333 533,333 0
OO0tsSAIE MASH 533,333
= 480,000
Al 53,333

OFSAIE 2l L SAR Q24| 4,435,923 4,368,026 67,897
Al 4,435,923

307 i+l & 4,435,923 4,368,026 67,897
Al 4,435,923

10 ALl SXAIEEE 2 H EX 4,435,923 4,368,026 67,897
OOts=EXAIE 2gH 2 AR 2] 4,435,923
Al 4,435,923

OFEAIE AlHIXI 122,092 101,000 21,092
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2N Ot
Ha: o
9l OFS = XA

a4 2 (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Al 122,092
307 2iz2to| A 122,092 101,000 21,092
Al 122,092
11T AISIEXAIEEX 122,092 101,000 21,092
OAl&0tE =80 &l 12,150
Al 12,150
OZOtAIE JIMATH 3,036
Al 3,036
OA&E0tE BEH X 45,312
Al 45,312
OANEOS =S| 4,230
Al 4,230
OAHOE 8= 39,804
Al 39,804
Ost&2 X 11,560
Al 11,560
Odeld MR EHI 6,000
Al 6,000
OrsEXAE JIsEZ 17,464 0 17,464
J| 8,732
Al 8,732
402 SI2VXHE0| & 17,464 0 17,464
J| 8,732
Al 8,732
02 BIZtXIEANYE X (0OIETHH) 17,464 0 17,464
OOtssXAIE JIs2d 17,464
Dl 8,732
Al 8,732
OlsSAld otdz2te] - 8HIH X 12,000 8,000 4,000
Al 12,000
307 2I2+0 & 12,000 8,000 4,000
Al 12,000
10 A EXAEEHES2IGH EX 12,000 8,000 4,000
OO0l AL ot 2e, 83 K& 12,000
Al 12,000
otsExNAs 2Y 6,800 1,400 5,400
201 gEt2d | 6,800 1,400 5,400
01 AF 2t 2| H| 6,800 1,400 5,400
OOtS=XMoAAAS 50 HA2g
(100,000 *x5% «123] )+(100,000& x8H x15] ) 6,800
AHAAXs0tES NEHXH 19,300 13,040 6,260
= 13,510
Al 5,790
307 212t0| ™ 19,300 13,040 6,260
= 13,510
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2N Ot
Ha: o
9l OFS = XA

& 2gxe CER-ED
SN EB S (3H) - NEAY - BES ofl &k o San HDE2

Al 5,790

10 AR SEXAIEEE2IHIEX 19,300 13,040 6,260
OdAHN XNsOls NHEXH 19,300
=2 13,510
Al 5,790

RESOls OEE 29 90,816 86,643 4,173
Dl 36,326
Al 54,490

307 212t0| & 90,816 86,643 4,173
Dl 36,326
Al 54,490

10 AIRIEXAIEEHAE2IGHIEX 90,816 86,643 4,173
OZ2SHMEIIFE(OEE) 29X 90,816
Dl 36,326
Al 54,490

SSMEIIE BE50ts XN&E 15,344 8,640 6,704
Al 15,344

307 QI2t0| & 15,344 8,640 6,704
Al 15,344

10 AR SXAIEEE2IHIEX 15,344 8,640 6,704
O=3sMEIIE B50ts AA 15,344
Al 15,344

SSMEIIY ot el K& 900 900 0
Al 900

307 QI2t01 ™ 900 900 0
Al 900

10 Al SEXAIEEE2IHIEX 900 900 0
O3SMEIY otd2eldl X 900
Al 900

SSMEDIAE SANX EXNSE 9,060 8,700 360
Al 9,060

307 212t0| & 9,060 8,700 360
Al 9,060

10 AIRISEXAIEEHE2IGHIEX 9,060 8,700 360
OZ2SMEINAE ESAX EXx=E X 8,760
Al 8,760
OZ2SMEINAE SAAN EXNEAE XS 300
Al 300

SSMEIJAE SAA A2AAZL2E 1,410 0 1,410
Al 1,410

307 QI2t01 ™ 1,410 0 1,410
Al 1,410

10 Al SEXAIZHE2IHIBEX 1,410 0 1,410
OZ2SMEIAE SAK A2HA225E 1,410




SNt
B 3

el OtSSXA

& 2gxe CER-ED
SA - BB B () - MM - BES Ol &t o San HmEET

| Al 1,410

Sti{OloiOtsa e 2Edl, oAdl, At 215,988 198,494 17,494
J| 86,395
Al 129,593

307 gl2tol & 215,988 198,494 17,494
J| 86,395
Al 129,593

10 M3 SXNANEHI2IHEXR 215,988 198,494 17,494
Ostthulool=sa e 2Z XA 215,988
J| 86,395
Al 129,593

Sti{OloiolsdH AXd=EHH XA 6,580 6,580 0
Al 6,580

307 glz2+0l & 6,580 6,580 0
Al 6,580

10 ALSISXAIEEE2EH EX 6,580 6,580 0
Osuoiotsdy 2848 N& 6,580
Al 6,580

StHIIoHOtSEEH BAR EX==& 18,360 13,940 4,420
Al 18,360

307 21201 A 18,360 13,940 4,420
Al 18,360

10 ALSISXAIEEE2IHEX 18,360 13,940 4,420
Ostthuloiots& & SALA =2X=& X & 17,760
Al 17,760
OStimoliols&EE SMNL SXNEAE XS 600
Al 600

StIHIIGHOlS EE SAA AlZA2R+E 2,819 0 2,819
Al 2,819

307 ©I2+0l & 2,819 0 2,819
Al 2,819

10 AL SXAIEEE2EHEX 2,819 0 2,819
OStHIIoHOtsSEE SALA AlIZ2A2R+E 2,819
Al 2,819

HFad B5 9 4 800,179 330, 126 470,053
= 36,336
J| 275,854
Al 267,420
- 220,569

a4 =X 800,179 330, 126 470,053
= 36,336
J| 275,854
Al 267,420
- 220,569

Hadws 10,150 10,860 AT10
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AN IEEMD

Hm: HAd 25 2 84
el Ead =X (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
201 ¢er24| 10,150 10,860 AT710
01 At 22l 10,150 10,860 AT10
OFAEE &3 5,500& x7000H 3,850
O T83AdsSHARS], &L
100,000 x9H 13| 900
O TANSANIELAESEXNIMA 22 A3 3],
oA 100,000 10X »23| 2,000
O T =adlMXAES, sl
100,000& =12 *23| 2,400
OstnEY oy £22 MA(S==2, o,
ESE8 S) 1,000& *1,0004 1,000
HAUMEENMHEH HEMLAAZZ 10,715 0 10,715
201 Let24E] 10,715 0 10,715
01 At 2t 2l 10,715 0 10,715
OFEAGAHEEXEH HETHAMMES
389,619,434 x0.025%1.1 10,715
FAERMESE ZTAE X 2,400 3,000 A 600
= 1,200
Al 1,200
307 glz2tol & 2,400 3,000 A 600
= 1,200
Al 1,200
02 It M AHEE 2,400 3,000 A 600
OFAERNSI LAY 2SS 2,400
= 1,200
Al 1,200
METH HZNAE 424H EEXA 13,660 8,971 4,689
J| 9,562
Al 4,098
301 LA S 13,660 8,792 4,868
J| 9,562
Al 4,098
01 MEIBEE 263 13,660 8,792 4,868
OMEXd AZXNE s E4LHE EEXNRZ 13,660
J| 9,562
Al 4,098
st 8 EAaY XA 127,336 125,993 1,343
J| 89,135
Al 19,101
- 19,100
307 gl2tol & 127,336 125,993 1,343
J| 89,135
Al 19,101
- 19,100
05 RIZHRIE 3 127,336 125,993 1,343
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AN IEEMD

XM ZH: ™A A L=
=R I ]

el Ead =X (=& J)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2

Ot % a4 XNF A 127,336
J| 89,135
Al 19,101
T 19,100

Fagotda 24 98,650 0 98,650
J| 49,325
Al 24,663
- 24,662

307 21201 A 98,650 0 98,650
J| 49,325
Al 24,663
T 24,662

05 RIZt2IEt = 98,650 0 98,650
Ot 29 98,650
J| 49,325
Al 24,663
T 24,662

HAHONMY 2 (XLASAY) 163,340 0 163,340
Al 81,670
- 81,670

307 gl2tol & 163,340 0 163,340
Al 81,670
- 81,670

05 BIZERIE 3 163,340 0 163,340
OFALEMMY 2H(XYASAY) 163,340
Al 81,670
T 81,670

HAUSENG Z20E 23 95,316 0 95,316
J| 47,658
Al 23,829
T 23,829

307 glz2+ol & 95,316 0 95,316
J| 47,658
Al 23,829
- 23,829

05 RIZt2E = 95,316 0 95,316
OFAESEL 228 2¢ 95,316
J| 47,658
Al 23,829
- 23,829

FAESEA T2 2 (J|2RL2) 11,476 0 11,476
Al 5,738
T 5,738

307 21201 A 11,476 0 11,476
Al 5,738
- 5,738

05 BIZHRIE 3 11,476 0 11,476
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2N

Hm: HAd 25 2 84
Sl HAW =X CERED
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OFAESEIXN T2 29 (0|22 2) 11,476
Al 5,738
- 5,738
ELAEHENWARXS 29X A 2,800 2,800 0
J| 1,400
T 1,400
307 21201 A 2,800 2,800 0
J| 1,400
T 1,400
05 212t E = 2,800 2,800 0
OFAHENWRAS 29 2,800
J| 1,400
- 1,400
BadE AZXNEAY 70,272 65,276 4,996
= 35,136
Al 17,568
- 17,568
301 LA F 70,272 65,276 4,996
= 35,136
Al 17,568
T 17,568
01 MI2ZE 6= 70,272 65,276 4,996
OFAE ALX ALY 70,272
= 35,136
Al 17,568
T 17,568
44 3 =EXNANE 28 XA 148,600 70,000 78,600
J| 74,300
Al 74,300
307 glz2+ol & 148,600 70,000 78,600
J| 74,300
Al 74,300
10 ALSISXAIEEE2EHEX 148,600 70,000 78,600
OFAY 3SXNEANE 28 N 148,600
J| 74,300
Al 74,300
a2 S80tYe 29 N2 10,000 10,000 0
307 21201 A 10,000 10,000 0
11T MISRASEX 10,000 10,000 0
O34 0=80teg 24 10,000
st 8 AW gAdH K& 8,948 8,948 0
Il 4,474
Al 2,237
- 2,237
307 gl2tol & 8,948 8,948 0
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SN OIEZ
XM ZH: ™A A L=
L= B (=}

chelr Had =X CEEEED
SA - BB B () - MM - BES Ol &t o San HmEET

T 7,477
Al 2,237
T 2,237

05 RIZtE = 8,948 8,948 0
Ostm % AW 3AH X2 8,948
Il 4,474
Al 2,237
- 2,237

st 8t HAE Z4Hl XE(ABIAE) 3,536 1,578 1,958
Al 3,536

307 21201 A 3,536 1,578 1,958
Al 3,536

05 RIZtelEt = 3,536 1,578 1,958
Osw s Had Z4aH X (AUIXE) 3,536
Al 3,536

FadE A=SXNIANE SAL SXNEAE 400 200 200
Al 400

307 gl2tol & 400 200 200
Al 400

10 AL SXAIEEE 2 H EX 400 200 200
OFAY SI=XNJANE BSAXR BXNEUE 400
Al 400

FaE SISXNIANE SAN dRMd=E 7,200 0 7,200
Al 7,200

307 glz2tol & 7,200 0 7,200
Al 7,200

10 ALSISXAIEHE2EH EX 7,200 0 7,200
OFAY 3=XNEANE SAN HRHd=E 7,200
Al 7,200

Had 3IFXNFAE SAR M2+ 1,880 0 1,880
Al 1,880

307 21201 A 1,880 0 1,880
Al 1,880

MIISXANLEHE2IHEE 1,880 0 1,880
OFAY SISXNEANE SAR Al 1,880
Al 1,880

st 8 EAY WsH X&E 13,500 22,500 A 9,000

307 gl2tol & 13,500 22,500 A 9,000

11 ALS S RALEE = 13,500 22,500 A9,000
Ot % a4 WsSHl X2 13,500

HE2LZH (OIS Z M) 267,373 310,283 242,910
= 124,056
Al 26,896
T 116,421
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2N

X{ XH -
S =

J
= =
=1

ol

HOrH=EE 21

JB 0 IR

H0 Mo 0

02 02 12
(O]

e

ek Hl (29l 8)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
ol 2| 193,753 242,591 A 48,838
= 124,056
Al 26,896
- 42,801
OtsEsdEde¥ 63,800 57,939 5,861
= 51,040
Al 6,380
- 6,380
101 1A dl 63,800 57,939 5,861
= 51,040
Al 6,380
- 6,380
02 JIEt A2+ 63,800 57,939 5,861
ONA LRI MBS (GELEHL R 2
%) el 63,800
= 51,040
Al 6,380
- 6,380
FHAHES OlsSEAMEIA XEA 95,330 146,861 A 51,531
= 60,000
Al 7,500
- 27,830
101 14 Hl 90,630 146,861 A 56,231
= 60,000
Al 7,500
- 23,130
03 B2 (RIAHY)2Z2NE S 90,630 146,861 A 56,231
OO0t At 22l At D25 S(2%) 75,000
= 60,000
Al 7,500
T 7,500
O A A 5,040
OgZE S Ottl 5,562
O¢irssII=¢ 4,668
odgthal & =X M=sUs N3 360
303 L& 3 4,700 0 4,700
02 dta0= 4,700 0 4,700
OdMaNH= 4,700
Ots=XIwAt OtA 34,623 37,791 A 3,168
= 13,016
Al 13,016
T 8,591
101 14l 33,436 37,791 A 4,355
= 13,016
Al 13,016
T 7,404
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A I SEH Y
B HHLSAAL (OISEHDY)
chel: ol gyl CEEEED
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
03 2LE(RIH) 22 XHE L 33,436 37,791 N4 ,355
Oot==2X W AHKIEAISI S X AF 18 ) Q1A H| 27,397
= 13,016
Al 13,016
= 1,365
O&FHZAHI 140,000& = 12& 1,680
OsY 60,000& =12& 720
OZF&E FItt| 2,340,830& *80% 1,873
O¢dxwrI& =Y 13,090& *8A| 2+ x 16 1,676
Ozl XA 30
oceus X3 30,000& 23] 60
303 T4 3 1,187 0 1,187
02 A= 1,187 0 1,187
Ogan2 3,122,860& *38% 1,187
PIEET 73,620 67,692 5,928
&l 73,620 67,692 5,928
201 LEt2HYH| 25,620 21,132 4,488
01 AFR2t2l bl 25,620 21,132 4,488
OEAEX ! 20,0003 x758F A 1,500
OEH ¥ &8 F2¢ 3,720
—-ZTely 132,000& *2CH 53] 1,320
-HHEZE EY 150, 000 & *2CH x4 A5 %2 3| 2,400
EMEGIE2+=2H| 20,000& x25H x12& 6,000
OAZ2AZ 2 X2 A 8,000& x6A x25H x12& 14,400
202 (4] 43,200 40,320 2,880
01 2L Y| 43,200 40,320 2,880
O2LHo Yl 140,000 *25H = 12& 42,000
O HI (KIS AS = XA
20,000& *53] x12J0 & 1,200
203 R =&Y| 4,800 4,800 0
04 ENSIHRF=EY| 4,800 4,800 0
ORANSIILRFAHI(BRA E& 3000/5H)
400,000& 128 4,800
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